
 

 

Percentage 

  
1. By mistake, the reciprocal of a positive fraction 

got typed in place of itself, and thereby its value 

got reduced by 
𝟏𝟕𝟓

𝟒
%. What was the value of 

the fraction? 

गलती से, किसी धनात्मि भिन्न िे स्थान पर 
इसिा व्युत्रम टाइप हो जाता है और इस तरह 
इसिे मान में 𝟏𝟕𝟓

𝟒
% िी िमी होती है। भिन्न 

िा मान ज्ञात िरें| 

a) 
𝟏

𝟒
  b) 

𝟏

𝟐
  c) 

𝟒

𝟑
  d) 

𝟑

𝟒
 

 
2. The income of A is 𝟑𝟎% less than the income of 

B and the income of B is 𝟏𝟑𝟕. 𝟓% more than 
that of C. If the income of A is ₹28500 less than 
that of B, then the income (in ₹) of C is:  

A िी आय, B िी आय से 𝟑𝟎% िम है और B 

िी आय C िी आय से 𝟏𝟑𝟕. 𝟓% अधधि है| यदि 
A िी आय B िी आय से ₹28500 िम है, तो C 

िी आय (₹ में) ज्ञात िरें|   

a) 36000  b) 48000   
c) 40000  d) 50000 
 

3. In a constituency, 𝟓𝟓% of the total number of 
voters are males and the rest are females. If 
𝟒𝟎% of the males are illiterate and 𝟒𝟎% of the 
females are literate, then by what percentage 
is the number of illiterate females more than 
that of the illiterate males (correct to one 
decimal place)? 

एि ननर्ााधित क्षेत्र में िुल मतिाताओं में से 𝟓𝟓% 
पुरुष और शेष मदहलाएं हैं| यदि 𝟒𝟎% पुरुष 
अभशक्षक्षत तथा 𝟒𝟎% मदहलाएं भशक्षक्षत हैं तो 
अभशक्षक्षत मदहलाओं िी संख्या अभशक्षक्षत पुरुषों 
िी संख्या से कितने प्रनतशत (िशमलर् िे एि 
स्थान ति सही) अधधि है  

a) 𝟐𝟎. 𝟖%  b) 𝟏𝟔. 𝟒%   

c) 𝟐𝟐. 𝟕%  d) 𝟏𝟏. 𝟓 
 

4. The price of a commodity increases by 𝟐𝟖%. 
However, the expenditure on it increases by 
𝟏𝟐%. What is the percentage increase or 
decrease in its consumption? 

किसी र्स्तु िी िीमत में 𝟐𝟖% िी र्दृ्धध होती 
है| हालांकि, इस पर हुए खिा में 𝟏𝟐% िी र्दृ्धध 
होती है| इसिी खपत में होने र्ाली प्रनतशत र्दृ्धध 
या िमी ज्ञात िरें| 

a) 𝟏𝟔% Increase/र्दृ्धध   

b) 𝟏𝟐. 𝟓% Decrease/िमी 
c) 𝟏𝟐. 𝟓% Increase/र्दृ्धध    

d) 𝟏𝟔% Decrease/िमी   

  
5. A reduction of 𝟐𝟎% in the rate of sugar enables 

Sudhir to get 6 kg more sugar for Rs 960. What 
is the reduced rate of sugar per kg? 

िीनी िे मूल्य में 𝟐𝟎% िी िमी होने पर, सुधीर 
िो 960 रु. 6 किलोग्राम अधधि िीनी भमलती है| 

िीनी िा प्रनत किलोग्राम घटा हुआ मूल्य कितना 
है? 

a) Rs. 35 b) Rs. 36 c) Rs. 32      d) Rs. 40 
 

6. The present population of a village (males and 
females) is 7640. If the number of males 
increases by 𝟐𝟓% and the number of females 
increases by 𝟏𝟓%,  then the population will 
become 9214. The difference between the 
present population of males and females in the 
village is: 

किसी गााँर् िी र्तामान जनसंख्या (पुरुषों और 
मदहलाओं) 7640 है| यदि पुरुषों िी संख्या में 
𝟐𝟓%  िी र्दृ्धध होती है और मदहलाओं िी संख्या 
में 𝟏𝟓% िी र्दृ्धध होती है, तो जनसंख्या 9214 



 

           

 

हो जाएगी| गााँर् में पुरुषों और मदहलाओं िी 
र्तामान जनसंख्या  िे बीि िा अंतर ज्ञात िरें| 

a) 820 b) 960            c) 940  d) 920 
 

7. Ramesh saves 𝟐𝟔
𝟐

𝟑
% of his monthly salary. 

When his expenses are increased by 𝟐𝟎%, he is 
able to save Rs 4,080 per month. His monthly 
salary is: 

रमेश अपने माभसि र्ेतन में से 𝟐𝟔 𝟐

𝟑
% बिाता 

है। खिा 𝟐𝟎% बढ़ जाने पर र्ह प्रनत माह रु 
4,080 िी बित िर पाता है। उसिा माभसि र्ेतन 
है| 

a) 35,000   b) 38,000   
c) 34,000   d) 30,000 
 

8. In a class, 𝟔𝟎% of the students are girls and the 
rest are boys. 𝟒𝟓% of the girls pass an 
examination and 𝟒𝟎% of the boys failed. If the 
number of girls who failed is 66, the number of 
boys who passed the examination is: 

किसी िक्षा में, 𝟔𝟎% छात्र लडकियााँ हैं और शेष 
लडिें  हैं| किसी परीक्षा में 𝟒𝟓% लडकियााँ उत्तीर्ा 
होती हैं और 𝟒𝟎% लडिें  अनुत्तीर्ा होते हैं| यदि 
अनुत्तीर्ा होने र्ाली लडकियााँ िी संख्या 66 हैं, तो 
परीक्षा में उत्तीर्ा होने र्ाले लड़िों िी संख्या ज्ञात 
िरें| 

a) 36 b) 48  c) 54  d) 60 
 

9. A number is mistakenly multiplied by 
𝟕

𝟓
 instead 

of being multiplied by 
𝟑

𝟐
. What is the percentage 

change in the result due to this mistake? 

किसी संख्या िो 𝟑
𝟐
 से गुना िरने िे बजाय गलती 

से 𝟕
𝟓
  से गुर्ा किया जाता है| इस गलती िे िारर् 

पररर्ाम में प्रनतशत पररर्तान ज्ञात िरें| 

a) 𝟔
𝟐

𝟑
% b) 𝟕

𝟐

𝟑
% c) 𝟑

𝟐

𝟑
%         d) 𝟓

𝟐

𝟑
% 

10. If decreasing 180 by 𝒙% gives the same result 
as increasing 60 by 𝒙%, then 𝒙% of 410 will be 
more than (𝒙 +  𝟐𝟎)% of 210 (correct to two 
decimal places): 

यदि 180 िो 𝒙% िी िमी िरने पर और 60 में 
𝒙% िी र्दृ्धध िरने पर समान पररर्ाम प्राप्त 
होता है, तो 410 िा 𝒙%, 210 िे (𝒙 +  𝟐𝟎)% से 
कितना अधधि होगा (िशमलर् िे िो स्थान ति 
सही)? 

a) 𝟑𝟔. 𝟓𝟕%   b) 𝟑𝟕. 𝟓𝟕%   
c) 𝟑𝟏. 𝟔𝟕%   d) 𝟑𝟗. 𝟒𝟔% 
 

11. The price of an article increases by 5% every 
year. If the difference between its price at the 
end of the second and the third years is ₹52.50, 
then what will be its price at the end of the first 
year? 

किसी र्स्तु िी िीमत में प्रतेि र्षा 5% िी 
र्दृ्धध होती है | यदि िसुरे और तीसरे र्षा िे अंत 
में इसिी िीमत िे बीि अंतर ₹52.50, है, तो 
पहले र्षा िी समाप्प्त पर इसिी िीमत ज्ञात 
िरें| 

a) ₹ 1,000  b) ₹ 950   
c) ₹ 840  d) ₹ 900 
 

12. Savita spends 𝟐𝟎% of her monthly income on 
groceries, 𝟏𝟓% of the remaining on rent and 
then 𝟔𝟎% of the left over on children's 
education and others. If she saves ₹ 9,792 a 
month, then how much (in ₹ ) does she spend 
on rent? 

सवर्ता, अपनी माभसि आय िा 𝟐𝟎% किराने िे 
सामान पर, शेष आय िा 𝟏𝟓% किराये पर और 
बािी बिे हुए िा 𝟔𝟎% बच्िो िी भशक्षा और 
अन्य पर खिा िरती है| यदि र्ह महीने में ₹ 

9,792 बिाती है, र्ह किराये पर, कितना (₹ में ) 
खिा िरती है ? 



 

 

a) 𝟑, 𝟗𝟔𝟎  b) 𝟒, 𝟒𝟓𝟎  
c) 𝟒, 𝟐𝟎𝟎  d) 𝟒, 𝟑𝟐𝟎  
 

ANSWER KEY 

1. C 2. C 3. C 4. B 5. C 

6. D 7. C 8. B 9. A 10. D 
11. A 12. D 

 
 

 


